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2. Solve any THREE questions out of remaining FIUE ,questmns o = LG o |
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3. Figure to the right indicate full marks. TR S G T ey
1 Attempt following. SE g A 7 ~ . {20] 5
A. Explain hubs and routers. P Ly _- : T E, ;* »’:h :
B. Compare RS 232 and RS 422 D ar iy ", ¢
C. Explain bust mode of HART prntocol SIS ERS 2
D. Compare H1 and H2 segment nf f::sundatmp fieid hu5~‘~ - '_5’“
E. Explain importance of data I nk {ayer in OS] modé? ; iy
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2. (a) Explain cnmmumtatmn made of H.&RT_pr-::toé‘bl e O [10]
(b)Write detail mft}fmatmn about Modbés “’ £ [10]
3. (a)Explain me‘bu;s—DP in detali “ “m;v S [10]
[b]Explatn CAN bus along thh it§ anphcatmn e [10]
4. (a) Cnmpare WIFIGPS an,d“_GPF@e.a AT [10]
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{b] Exptam TCP;“IP pmto&d ;gdetan e, [10]
5. {alE:u:pIam faundatlcm}ielghus along wnth its advantages and disadvantages. [10]
[b]Explam maﬂchg;stg,r codlng? P [10]
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